PORTAVALIGIA SPECIFICO - SPECIFIC CASE
PORTE-VALISE SPECIFIQUE - SPEZIFISCHER KOFFER-TRAGER
PORTA-EQUIPAJE ESPECIFICO

YAMAHA MAJESTY 125/150/180
MBK SKYLINER 125/150/180

ISTRUZIONI DI MONTAGGIO - MOUNTING INSTRUCTIONS

Y (SR46M - KR460?

\_ INSTRUCTIONS DE MONTAGE - BAUANLEITUNG - INSTRUCCIONES DE MONTAJE

)

—m

SUPPORTO PIASTRA
PLATE SUPPORT
SUPORT PLATINE
PLATTE LAGER
SOPORTE PLETINA

e C aYd : N/ : aYa C N\
T

IT VITERIA
COMPONENTS INCLUDED IN| @ )
[THE FITTING KIT OF THE PLATE

PIECES INCLUES DANS LE KIT
DE VIS DE LA PLATINE

VITE TCEI M8x20 RONDELLA VITE TCEl M6x25
O ONTAGERT BER PLATE | | SGREW M8x20 SaSHER b C SCREW Méx25
ERHAITEN VIS M8x20 RONDELLE @8 VIS M6x25
PiEZAS INCLUIDAS En EL KiT [ | SEHRAUBE M8x20 SCHEIBE @8 SCHRAUBE Méx25
DE ANCLAJE DE LA PLETINA | | TORNILLO M8x20 ARANDELA @8 TORNILLO M6x25

; 4
a ' E'NELCESSARID SMONTARE I MANIGLIONE.
IT 15 NELESSARY TH DETALH THE HANDLE.
CEST NEECESSAIRE DEMONTER LA PINGNEE.

| E5 15T NOTWENING DEN GRIFF
ABZUMIONTIEREN.

HAY QUE DESMIONTAR L4 A54 TRASERA,

kQ TY n.2 (dx-5x)/

o QnTY n.- A Q.TY I'I.4 SN Q.TY l"l.4 VAN Q.TY I'I.4 J

f N

/

© Copyright 30062004-Rev05, 1/1




